Computer Science

aunnm *‘vin

2022 = 279N ,hl2dd HJy'hd J12ho
899381 : NINY 'ON

PCNN 1¥PN

J1€k2 P29

1 afke

public static int[] multiply (int []
{

arrl, int [] arr2)

int big, k, m;
if(arrl.length < arr2.length)
{

big = 2;

K =

m

arrl.length;

arr2.length;

else

bhig =

= =

arr2

arrl

.length;
.length;

int[]arr3

new int[m];

0 ; i<k ; i++)
a

rrl[i] * arr2[i];

(int 1 = k; 1 < m; i++)
arr3[i] = arrl[i];

for
arr3[i]
}

return arr3;

(int 1 = k; i < m; i++)

arr2[i];

N2 adin

27 plaN 1 2INY

blog.csit.org.il



Computer Science
2022 = 2”9@h ,hl2dd ny'nd |12hdo NDN 'YIn

899381 : NINY 'ON

C#
//--- Dn'm7o DUZDn P00 D110 71183 DU3TUR 10 NYAENN N71US ---
ff--- am1e T10En 7TUma TIED 13718HD DT F0 TIUT N T ---
Jf--- DM ETEN NINIERD DUO3TEN NTP90n 10 110N OIRETD T2 ---

;"J."l—-— anitt o T1En TDmn Tt HE TIED X111 T1Dn TREmT DT Irnn Ti1ma ---

public static int[] Multiply{int[] arrl, int[] arr2)

{
ff--- 1 7i7in TOpmon 1ntmo---
int big, k, m;
if (arrl.lLength < arr2.lLength)
1
big = 2;
k = arrl.Length;
m = arri.Length;
I
else
i
big = 1;
k = arrl.Length;
m = arrl.Length;
¥
int[] arr3 = new int[m];
for (int i =@; i < k; i++)
arr3[i] = arrl[i] * arri2[i];
ff--- an1 11aEn 1rmn em "2aTUn nEnun o ---
if (big == 1)
{
for (int 1 = k; 1 <« m; i++)
arri[i] = arrl[i];
I
else
i /*
for (int 4 = k; i < m; i++) arrl =1 -4 4 9 2
arr3[i] = arr2[i]; arr2 1 9 2 6 -1 3 11 23
R pe—
return arr3; multiply(arrl, arr2) : 9 -8 0 9 6 11
I multiply(arr2, arrl) : 9 06 -9 6 11
*

]
Ty

[+
Ty
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,"f;”'——— 110 TN X100 O'Nn "27D0 92 o Tum -
,"f,"'——— NN 70D 12700 Xn? TTonn ,Q’ NN 2'"mnmn 210N ot'Rp o
/i 0 17ovw ¥na Nt TNDNT OTRNA 22 20 NOA1U INRTODl ———

public static boolean isPerfect (int[]arr)

{
int n = arr.length;
J/-—— 121mn'®1 D 11n T7Un DOt Et ——
int [] arrT = new int[n];
for (int i =0 ; 1 < n ; i++)
arrT[i] = 0;
//-— =2170mn 2u avn ——
int k = arr[0];
while (k '= 8)
{
if (k <0 || k >=n)
return false;
if(arrT[k] > 0)
return false; // 0T 79ona 1a%pni a0
arrT[k] ++;
k = arr[k];
}
arrT[k] = 1; e
arrl : 2 2 3 2 0
—-—— 1 w10 O'¥n0 22 TI00 o773 ——-— is perfect(arrl): false
for (int i = 0 ; i < arrT.length ; i++)
if (arrT[i] = 0O} arr2 : 3 0 1 4 2
return false; arrT -1 1 1 1 1
return trues is perfect(arr2): true
}
arrd : 1 2 5 1 3 4
is perfect(arr3): false

arr4 3 4 1 5

arrT > 1 0

=
(o]
=

,_
[y
-
a
-

is perfect(arr4): false
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fi--- 11m [IPn ®170 DTRN T30 8% AEtID TIUn ---
ff--- ®nn T7p2 12700 #nT Ttonn L8 ®na FUUnmn 71700 DR O---
Ji--- B 172vw ®na NNt UTMODRY DU&END 2?2 YU NT21r OIngtmnl o ---
public static bool IsPerfect(int[] arr)
{
int n = arr.Length;
Jf--- 1%71mn w1 mta1Im TUR DOCEY ---
int[] arrT = new int[n];
for (int 1 = 8; 1 < n; i++)
arrT[i] = @;
J/--- %1%onn Tv avn ---
int k = arr[@];
while (k != @)
1
if (k<@ || k >=n)
return false;
if (arrT[k] > ©)
return false; Jf 071 a9ona 11%Ena1 oo
arrT[k]++;
k = arr[k];
¥
arrT[k] = 1;
J/---1 ®w1n o ®nn 72 TOPO0 DR TR ---
for (int 1 = @; i < arrT.Length; i++)
if (arrT[i] == @)
return false;
return true;
¥
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7 TR e -
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public boolean isRed()
{

this.red > 0 &&
this.green )

return

pubklic boolean isBlue()
{...]

pubklic boolean isGreen()
{...}

public boolean isWhitel()

{

return this.red == 255

public boolean isBlackl()
{

return this.red = 0 &&

P naTN 170 1% Spoig
——— 288 w10 “m 0 AW nNETY

&

P naITN 170 17D ToT 90
—_——— l ax7 “m 0 W NET YD

¥ 97D
.
.
S EE

this.red <=
&& this.blue

this.green

=

Pixel nponnn

e -

Z55 &&
Q;

this.green == 255 §&& this.blue == 255;

- AT O TITAT MM TITMA MmA TS ——
—rE ToT'9 NIO IR SoO7 g ———

&& this.blue == (;
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: Structure npSNNXN

—_ 11 aJ gruy —_
- NI IEm TIND TIUDS O8 DX 1°7ToRa ATirs ———
f—— NiQTTNG N17T1,730 719200 120 TR0 N0 1T7iNwD Tvom@ ——
——— MDA TMAITISOTISO O FSTATI NI IITOSO NI TISOTS e e T B
== NIIITH2 &8 NI@17TY ,NIRTTH 1380 N171g3 Q2J22n"n ———

public boolean isBalanced()

{
int countRed = 0, countGreen = 0, countBlue = 0;
for({int i = 0 ; i < this.arr.length ; i++)
{
if (this.arr[i] '= null && this.arr[i].isRed())
countRed ++;
else
if (this.arr[i] !'= null && this.arr[i].isGreen(})
countiGreen ++;
else
if (this.arr[i] !'= oull && this.arr[i].isBlue()})
countBlue ++;
}
return countBed = countGreen &£& countBed == countBlue:;
}
——= 2) 31 g vg -
f——— 127-1100 TIUR N10 TIURO ON RN O TERO 7108 ——-—
f——— F2%3 p 2323% &% DTTIAE 13 D8N0 TSD TUR N0 13T-TimD TR ———

public boolean isBlackWhite(}

i
int countBlack = 0, countWhite = 0;
for(int i = 0 ; i < this.arr.length ; i++)
{
if (this.arr[i] '= null && this.arr[i].isBlack(})
countBlack ++;
else
if (this.arr[i] != null i& this.arr[i].isWhite(})
countWhite ++;
}
——— 2127 TAw PIW3T1 1I00D TAN NIN3T m oowNn ——-—
if (countBlack = 0 || countWhite == Q)
return false;
——— TWwRa 7137 0110 OUIima 0130 ON ——-—
‘——— 72%2 pr1aT ¥ DTTIAR 13 DUEFOFCE0 §3 TN ———
return countBlack 4+ countWhite == this.arr.length;
}
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: Pixel np5nnn
fi--- ¥ 97U -
[/--- MR IPDT D1TR ZDETEN DR NNE N0 TIN0 N71U9 ---
fr--- D1T8N DAY¥N NIND 120 ?0R°9 X110 D1TR 20R"9 ---
ff--- 8 ®-n 71imon1 Fiacn vaEn ninzdt 255 -1 @ 172 ---

1 reference

public bool IsRed()

{
return this.red > B && this.red <= 255 &&

this.green == 8 &% this.blue == 8;

N S
1 rererence

public bool IsBlue{)[::

Y T J——
1 rererence

public bool ISGPEEH{}[:]

J/--- (2) "2 g-vo -
fr--- TATR OED1 127 70@'9N DAY OX NN N TN n?1ve ---
ff--- 255 ®1n 1%0 nUvaYn NODTR0 TIVD ?ODRT9 1IN 1127 0ET9 ---

1
return this.red == 255 && this.green == 255 && this.blue == 255;
¥
/1=~ 2) '3 9 vo)
ff--- DOTR ORFDT 7D FORTEN DAY OF NNE N7° TR0 2103 ---

/f--- 8 %10 190 DUpa¥n NEIFO TIUD FOEC9 ORI OO FORTI ---

WIS

public bool IsBlack()
{

{8 e

return this.red == @ && this.green == @ && this.blue == @;
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/f--- (1) 2 9 vo ---
Jf--- nITR IFD1 1TI1RN TIUAN DR ThR 1°TTRA N?189 - - : Structure npoNKN
/r--- NINITRN N1TIRIN 190N 2@ 11U RIN 1TIRA TIUD ---
//--- MIRI7°A NITIRIN 190AZI N1217OA N1TIRIN 19007 AT ---
/-~ N171T3 18 NIE11° L,MINITR 11780 MIT1RI NI30°N ---

0 references

public bool IsBalanced()

1
int countRed = @, countGreen = @, countBlue = @;
for (int 1 = @; 1 < this.arr.Length; i++)
1
if (this.arr[i] != null && this.arr[i].IsRed())
countRed++;
else
if (this.arr[i] != null && this.arr[i].IsGreen())
countGreen++;
else
if (this.arr[i] != null && this.arr[i].IsBlue())
countBlue++;
¥
return countRed == countGreen && countRed == countBlue;
¥
fi--- (2) 1 g uo -
ff--- 122-711T0 TIUR X170 TIURN DR NNE 070 TR0 07109 ---
f/--- Ta%2 0U13% 1R DUOITD 132 DURNN 30 TIUR XIN 127-717Tm TIUn ---

0 references

public bool IsBlackWhite()

1
int countBlack = 8, countWhite = @;
for (int 1 = @; i < this.arr.Length; i++)
1
if (this.arr[i] != null &% this.arr[i].IsBlack())
countBlack++;
else
if (this.arr[i] != null && this.arr[i].IsWhite())
countiWhite++;
¥
J/--- ?12% TR nima?l ITOD TR NITE? D° DR ---
if (countBlack == @ || countWhite == @)
return false;
ff--- TIrNA 27147 N110 DUITNAN DIOD OR O ---
ff--- T2%2 D"12% TR DTITD 12 DUTFORTEN D TR O---
return countBlack + countWhite == this.arr.lLength;
h
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public static boolean isIncluded (Node<Integer>1stl, Node<Range>1st2)

{
int x;
Range r;
while (Lstl != null && 1st2 != null)
{
r = lst2.getValue();
x = lstl.getValue();
if (x < r.getLow())
return false; // 1st2 -1 mp N7 X
if (x > r.getHigh())
1st2 = 1lst2.getNext(); // wan pinn? 773p7 w' ,0i0nan 217
else
1stl = 1stl.getNext(); // ~w2i110 oimna wwyno
}
return true;
F
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Jf--- Tm& N7t TN DUMITh NRC@T71 DUI90n NNt I nRaAEnn n?ivs o ---
ff--- NN @72 D RITAN TTR1 ®¥NJ1 0°790n0 TR 013 190n 223 ---
ff--- NAT& IFD1 D NITNn ---
ff--- N%10 1702 M13ITTINN NINCTOIN CNo 77U ---

0 references

public static bool isIncluded(lNode<int> 1stl, Node<Range> 1st2)

{

*/
/

yQITINAN 21771

int x;
Range r;
while (1stl != null &% 1st2 != null)
r = 1lst2.GetValue();
= lstl.GetValue()};
if (x < r.Getlow())
return false; ff lst?2 -2 g w7 x
if (x » r.GetHigh())
1st2 = 1st2.GetNext(); // =an wimn% "1av? o°
else
1stl = lstl.GetNext(); // ~m211n Dimna ®¥ni
return 1stl == null;
/*
isti: [-9, -8, -7, 12, 14, 15]
ist2: [(-28, -18), (-9, 0), (2, 4), (12, 12), (14, 17)]
isIncluded(lstl, 1st2) : true
1st3: [1, 5, 8, 12]
ist2: [(-28, -18), (-9, 0), (2, 4), (12, 12), (14, 17)]
isIncluded(lst3, 1st2) : false
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pubklic Stack<Integer> getHNums (int x)
{
Stack<Integer> sTemp = new Stack<Integer>();
while (! this.numbers.isEmpty())
sTemp.push(this.nunbers.pop () )
Stack<Integer> stk = new Stack<Integer>():
int sum = 0O;
while (sum < x)
{
thiz.numkers.push (sTenp.top () )
sum += sTemp.top():
stk.push (sTenp.pop()) s
}
return stk;
}
puklic void eraseNum (int =x)
{
Stack<Integer> sTemp = new Stack<Integer>():
while (! this.numbers.isEmpty () && this.numkers.top() != X)
i
sTemp.push (this.numbers.pop() ) :
sums.pop ()
}
this.numbers.pop():
sums.pop ()2
int sum = 0;
if ('this.sums.isEmptv())
sum = this.sums.top():
while (!'sTemp.isEmptv())
{
this.numbers.push (sTemp.top())
sum += sTemp.pop();
this.sums.push (sum) ;
}
}
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C#
fHf--- '® 97 UT ---
f--- M7*TTANT SUMS N*10TRA D° RN 190N N2agnn n21vg ---
//--- Dnmi1oUo numbers -n D°I2° &N ¥2 NA0 NOTT NTIDTR QU TURT ---
ff--- numbers n-1oTn N&® NUIN A21090 .07 19DR ---
public Stack<int» GetNums(int x)
{
Stack<int> sTemp = new Stack<int>();
while (!this.numbers.IsEmpty())
sTemp.Push({this.numbers.Pop());
Stack<int> stk = new Stack<int>();
int sum = @;
while (sum < x)
{
this.numbers.Push(sTemp.Top());
sum += sTemp.Top();
stk.Push{sTemp.Pop());
}
return stk;
}
/f--- "1 qruo ---
}’f——— DXNN1 SUmMs T" 107N N® NI2Trnl numbers M- 107NN 190N nEgminn n21rs ---
0 references
public void EraseNum(int x)
{
f/--- m19"T X N DI2TRD NEUTRI- SUmMS ---
Stack<int> sTemp = new Stack<int>();
while (!this.numbers.IsEmpty() &% this.numbers.Top() != x)
{
sTemp.Push(this.numbers.Pop());
sums.Pop();
}
ff--- NETTM X N1*10TRN CNER N1230D7 1090101 ---
this.numbers.Pop();
sums . Pop();
Jff--- n""12 710 DUOQC®N DNATON SUmMS - --
int sum = @;
if (!this.sums.IsEmpty())
sum = this.sums.Top();
while (!sTemp.IsEmpty())
{
this.numbers.Push{sTemp.Top());
sum += sTemp.Pop();
this.sums.Push(sum);
}
}
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: stackSod1 N
1093 st element| ?nprast| val N9tNAa st
[6,3,7,4] 9 N 6 |[6,37,49]%
[3,7,4] 9 ) 3 1[3,7,49]
[7,4] 9 N 7 [[7,4,9]
[4] 9 N9 4 |[4,9]
[] 9 W [9]
[6,3,7,4,9] :stackSod1 5w 1192110 INNRD MIDNNN

st MMoNNN MNNNY element NN NONYT NHIVAN : NDIVHN NIVN

0NN DR 90N NN I N AWRD O(N) : NDIVIN NPINDD
777N DN NN NPTNNI,)IDPT MIDNNN DX PN NDIVAN
O(n) ¢ ory¥2n+1 27no

: stackSod1 A
192391 st st val NN M9 st
1NPINY StackSod1

[5,3,7,4] ND 6 |[3,7,4,4,7,3,6] “[6,3,7,4,4,7,3,6]
[2,7,4] NO 3 [7,4,4,7,3] [3,7,4,4,7,3]
[7,4] ND 7 |[4,4,7] [7,4,4,7]
[4] N2 4 1[4] [4,4]
[ M

[6,3,7,4,4,7,3,6] : 2stackSod S¥ 1119270 INND MI0NHNN

St 7IDNNN TPNNND NMHDNNN MDN DY PMY NINYT NIIWON : NDIVON NIVN
(DY TPHRS MNP NDSTAN) NIV NNONN NYAPNNY T

IMDNNA DMIND 190N NN INN N AWRD O(n?) : NYIVON NP

:DMIYO N NYNAN NN
O(n) - stackSum1 nSwan
O(1) - mDNNPN YNRID TR NONT 1910 INNRD

O(n?) < oTysn*(n+1) >no
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puklic static koolean wordFromRoot (BinMNode<Character>tree, String str)

{
if (str.eguals("")) if (str.length{) == 0)
return true;
if (tree == null)
return false;
if(tree.getValue () '= str.charlit(0)
recturn false;
Str = eraseFirst(EEEJ; anie mont TI1Y¥ QN1 DI iny atiusn
return wordFromRoot (tree.getleft(), str) || wordFromRoot(tree.getRight(), str):
}

I ONTT 1RO NN NTIEROR NEPTIna ATins

pubklic static String eraseFirst (String str)
{...}

ff--- n7ip2 2 TRnN 2170M FUa DUCR OX NMN& N TURN N?1Dp9 ---
ff--- NMITR 1RO ,NITNIN N7 19N N1°"°N1&8 723 N& 2201 ---

public static bool WordFromRoot(BinNode<char>» tree, string str)
{
if (str == "")
return true;
if (tree == null)
return false;
if (tree.GetValue() != str[@])
return false;

str = EraseFirst(str); J/ nnmir mnn? T11Y 1°®1 N1101 1090
return WordFromRoot(tree.GetLeft(), str) || WordFromRoot(tree.GetRight(), str);

J/--- 170870 1NN N® NTI1OTRNN NRTIRN A%1Us ---

public static string EraseFirst(string str)[:]
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rerde pa9
HANONY AVYNN MIIYN
NMN=D) (ININI) N9 7Y AN NY P NINN
8 ndke
J92P0N NavA MO YOP MY LN
MOV SI,30h
MOV CL4 AX BX X ST
MOV CH 4 AH AL BH BL CH CL
00h 04¢h 04h 0030h
MOV BH,0 00h | 25h 25h
52h
Al 1L
MOV AX, [ST] 03h 0032h
ooh | 3Ah
MOV BL, AL 3AL
0A3h
ROREL, CL 0Ah
DEC BL 0zh 0034h
ooh | 7Bh
MOV [SI], BX 7Bh
0B7h
ADD SI1.2 0B&h
DEC CH 01h 0036h
ooh | 93h 93h
CMP CH,0 39h
3gh
INE Al 0oh 0038h
address 30h 31h 32h 33h 3¢h 35h 36h 37h

value 25h a0k B a0l “Bh a0k 93k a0k
51h 00h 0A2h 00h 0Bsh 00h 38h 00h

,30h M2IN2N YNN 4 9712 DY DY TIVA DY 12 TIDINN YO

(low) N9 922 )INNNN N*2N NN TN

1L T 22pNne Tvnm 0031 4 5W Ror 7y MITARDY NNMWYN P2 90NN
S TIYNRA DXRNNN DIPRY NN ©NIH N2 DY 021D INNIND NN

20 93 TINN TAR N2 P XN NNNANM 212200 YIR 020 SY NN TIvnn
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if{x<v+2)
{
do {
Hy==zl x<v)
X += Y
z—

} while [z:; 0);

JS9anoNa OYNNR YO 2100

DMManzy vy 2 ownnn NN AXBX CX oanwenn

MOV AX 12;X
MOV BX, 4 ;Y
MOV CX, 3 ;Z

MOV DX, BX

ADD DX, CX

CMP AX, DX

IGE SOF
AGAIN:

CMP BX, CX

IGE GOOD

CMP AX, BX

IGE NOTGOOD
GOOD:

ADD AX, BX
NOTGOOD:

DEC CX

CMP CX, O

IG AGAIN
SOF:
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TN AT TR FRITTEN N N

ARR DB 45,43,40,17,16,16,20,12,25,12,1,11,32,30,36,40,43,32, 34,43
LEN EQU $-ARRK

REZ DE
MOV REZ,0
MOV SI,0
MOV DI, LEN
DEC DI _; DI=19
MOV CX, LEN

SHRCX,1 _ CX=10
MOV AL, ARRISI]
ADD AL, ARR(DI] _; ALKEEP LAST COUPLE
INC SI
DEC DI
DEC CX
AGAIN;
MOV DL, ARRISI]
ADD DL, ARR[DI]
CMP DL, AL
IGE SOF
MOV ALDL ; KEEPLASTINAL
INC SI
DEC DI
LOOP AGAIN
MOV REZ,1
SOF:
NOP
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021N YY1

115 92P2 7Y ANDI MY PIAY PININ

L={a"b"n > 0,m = 0,mdh4 = mh2}

1%2#0% 94— 7n=1,m=0:
1%2=1%4-1n=1,m=1.
1% 2#3%4—Tn=3, m=3:
3%2=5%4- n=3,m="5:
2%2#2%4-mn=2,m=2:
lwl2=1%d—- I n=3 m=1:
2%2=0%d4-n=2,m =0 :
n=0momM YT, n=0 m=4:

492=0%4-1n=4, m=0:

1%2#3%4 —n=1,m=23:

710N
iy

iy

iy

iy

710N

110N

iy

710N

110N

12 afke

LNOWI NI N -a

. Nawh N2 - ab

. TI9WT N2*"y 7 - aaabbb
. Nows N2 w - aaabbbbb
. NowT N N7 - aabb

. oW N2 - aaab
L9 N0MW - aa

. Nowd Navw 82 - bbbb

. TI9W2 N - aaaa

. Now? now 87 - abbb
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cecbaa: TSP OINNION, Nypin = 1, kppin = 1 (1) N

:LINN 92pnn monn vmoiN (2)

b,A, PopA

a,A, PopA

L = {cl +h+ "bkaznln,k > 1}

R(Ly) = {a®"b*ct thtnn |k = 1}

L, =1, d 'R(Ll) — {C“’k"'“bkaz”d azmbjcl +j+’"|n,k =1,m,j= 1}

dd NN R(Ly) -9 Ly ya1nxd paenl, 7aon . N9WY NO»Y NY - cccbaaddaabece

(d-2 yoon nnn) ccchaa € R(Ly) 720N . Mawh no»w XY — cecbaadeccbaa

,(n=1,k=1m3y) ccchaa € L; :110n . N9W5 No»w - cccbaadaaaabecce

(m=2,j=17M1y) aaaabccee € R(L,)
Cdw DN nY PNy
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java sy NN MmN
29819293 EVi YU2an vy anoy my paab pano

public class Cart

{
private String

private Clothing[] arr;

14 ndke

TIFINM 2 AN NIZIVE NoNYN ,AWINK DoV N7NWN

Nafme g

private int current;

niMe 10 n¥*nn Cart ng'nnn nnd 1-x

AFINnA nAn

nipn oW
00301 NIX7IN / 0 wn

A7 N2 0MRIN 50n

Cart Clothing

JAN

Shirt

Pants

Cart 1.; Product

A

Clothing

AN

Shirt

Pants

public class Product

{
private int id;

private double price;

nignAan NN 0NN 2-K

N'Yn KT nigtnna noa 1-a

ninAl Product ng'tnnn nnnin 2-a

nRINnn nOnin

EIN IA'T 19010

XN 'Nn

N2 adin
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Product agynnn nooia anx? nipnnma o"n'wa - 3
id, price D"LAN9N DY XM NYNNAAN N1 270 ¥ Product n7pnna Down

{
private String name;
private Product[] arr
private int current;

et

o"I'wn ng'tnnn ow

public class Clothing extends Product Clothing

[ XA NN mnwn agtnnn nane L1

private String fabric; XM APPNAY Nay id, price npnn 2
private String color;

public class Cart Cart

, 0'T21 7¥ YN nipna
"IN 9w vn v

A'nn nYTIn Y aTive nooi;n -2

i 7INIA INAYT XM 'R N7IYo np'innn ow
public double getDiscountPrice () Product
{
return this.price * 0.9;
}
| public double getDiscountPrice () Clothing
{
return super.getDiscountPrice () 10;
}
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JINAY DT, NI7IYVO nonyal N7IYe NoYT ,Awina npow nINwn

.

Antelope a1 = new Antelope(10);
Object a2 = new Antelope(10);
Beavar b1 = new Beavar(10);
Mammal b2 = new Beavar(10);

: Program npnna n'wan aven

[ oxyn 7y vann N

Antelope

[ epa w7 ] nwn v naaw 19y
JIEnmn e Yl R

‘o qroint Ymim ] . omyy o'wnn vty -2

:nlp'mnn n'2a'n

1) <Antelope>al 2 | . _1p

Antelope
2) <Object>a2 = w=10

1 bl > Beavar
)} <Beavar>bl w =10
Beavar
4) <=Mammal> b2 =
w =10

Object
A
Mammal
[
AN AN
Antelope Beavar

1 | System.out.printinfal. weight);

TRV [DIMD AT TINYDH 'K 1PN N
I¥ Mammal nF7nnT? yinn weight fionn

AT TN nE'nn

NN MM AR Program D nmn ox2 vy
3 IOTAIm wight noanoe 7723 0ann

PR SN DYIH TIAT TR 0, protected

2 | Syslem.oul.printing ((Beavarja?) getWeight());

, Antelope 019010 1R 32 DXV XYY RKAw

01907 MK TEAYT H0IN NA2IMN YT N
T i K atan Beavar

JIETY [T TUFANE DN

3 | System.oul printinfal.isSama{a2));

DU DOIDY03 ARKDN ' TANN R
01901 Ko al isSame N7Won TR n0ed
TinKD is5ame TS T N nimneg Antelope
DEY Nl Mammal o19'on DXy n7apow

MIT 22 AR IENen 1TR Antelope omomn
Object o1mon

4 System.oul printinfaZ.isSamaial));

npnn? | Object OrE0mR MIT a2 12N NN
isSame ITY nTws 'R Object
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System.out.printin{b1.isSamea{b2));

oy It NYs 17 e Beavar o19'0n bl Jrpm
1 AN ATIYDN DM TYD _ETTINN NNk
0790 . Beavar
In Beavar
true

System.oul.printin{b2.isSameai{b1));

MM [371 Beavar 0l9'00 1¥0 ¥IA 01 b2 _ppn
u'ren
In Beavar
true

Syslem.oul.printin{al.isSame([Baavar) b2)};

. Mammal o erire Antelope orom al . pEn
HINW Beavar 0I9°01 KD T08 0TS
TiFTNnY NTYSn K 7een 3 Mammal

uren 2 Mammal n wn'a nagn Antelope
THIN
InMammal
falze

Syslem.oul.printin{al.isSame([Antelopaa));

IIATD3 NN KAl Antelope crown al pan
1 ATTRG TR il Antilope 0203 Dy
NN is5ame AVen K Pran P Object
Mo uren Antelope nE'tnna
In Antelope
true

Syslem.oul.printin{b1.isSamea{[Antelope) a2));

oxY 7V isSame A7Yen NE Tran bl e
‘MIT 07on Mammal Boeriw Antelope 019010
In Beavar
true

10

Syslem.oul.printin{b1.isSamea{ (Beavar) a2));

M7 AT Antelope 00 A2 T KA
Beavar 0 WO H7W 07T I0Imin

VAN NI TN [T 0TI ONY0 OX

[N nyED

System.oul. printinfal. weight;

al petWeight() n'zusn

System.out.printinfal.isSamea(a)};

Antelope 7 AT a2 NEn
Systemn.out.printin{al.isSame||Antelope)a2));
079 TIFND A TR
In Antelope
true

System.out.printinfa2.isSameaiat));

antelope 7 Object B ANTNI a2 MK "ENYT
Systemn.out.printin] [{Antelope)aZ).isSame(al));
WD 090 AT N A
In Antelope
rue
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16 ndke

public class Cart Cart apbman mmo 1.

{

private string name;
private Clothing[] arr;
private int current;

}

\L% Clothing P own 2.8

/N

Pants Shirt

NIWT MR

Cart ‘7| Product

/ ,\ mpmowan 1.2

Book Clothing

AN

Pants Shirt

public class Product
{
private int id;
private double price;
public Product( int a,double b)
{id=a; price=b; }

Product npbnnn 2.2

Jn?p adin 27 plan 25 ?INY blog.csit.org.il



2022 = 279N ,nl2d nJ had J12ho
899381 : NINY 'ON

Computer Science

aunnm *‘vin

(Twman nwaTn? P O°RI127) MN2In mpYmna omwwn 3.3

public class Clothing:Product

{
private string fabric;
private string color;

:base(a,d)
{

}

fabric = b; color = ¢;

public Clothing(int a,string b,string ¢,double d)

public class Book:Product
{
private string bookName;
private string author;

:base(a,d)
{

bookName =b; author =c;

b
'

public Book(int a, string b.string c,double d)

public class Cart

Clothing p%nnn

Book nponnn

d
return price®(0.9;

|

Cart apomnn
{
private string name;
private Product[] arr;
private int current;
}
public virtual double GetDiscountPrice() Product 7pommn

public override double GetDiscountPrice()

]
return base.GetDiscountPrice()-10;

}

Clothing npbnna

public override double GetDiscountPrice()

d
return base.GetDiscountPrice();

J

Book npbnma
{(mm ®7)

195 .M201 AR TR 90 aphana ) .19 ThRE DK R mUIpt nhana oS mnwekh R e

(27020 ME DK T
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17 adfke

01w oW IMK) Mammal ap5nna aven Sy nonyn X0 Antelope apbnna IsSame awen 200
(M wnB

oxy ) Mammal npbnna ahwen au 5w (override) 70777 X0 Beaver  1p%nna IsSame  nwen
(.Beaver 5w IsSame n1?ysn nx >°vo° Beaver P mnnn Mammal 019702

L T DORXYR

e_.weightﬂo 0 ,-weightﬂo T DPYAX Non
© W - W e

TR TN OX BT RD PR
Console.WriteLine(al.weight); ynn Mo arR weight nnona oo .1
iririgial]
T2 whnwnY Y Rn)
.GetWeight()
Console.WriteLine(((Beaver)a2).GetWeight()); | X1 Antelope X7 prman o3va muw .2
21701 1MK2 1R 0w R RnR WK
hrivaih
Console.WriteLine(al.IsSame( a2)); n2apn Antilope aphrma awan a3
D9°bn 0¥y X7 Antilope D1o°un 0¥y
. Object
mnn My jpn® weR)
al.IsSame( (Antelope)a2))
Console.WriteLine(a2.IsSame(al)); DX 77722 82 Object 0wun M0 4
Janh MR nphnna mbwen
TR Y PPN
((Antelope)a2).IsSame(al))
Console.WriteLine(b1.IsSame(b2)); :uen rpn.S
In Beaver
true
Console.WriteLine(b2.IsSame(b1)); 0750 . 7PN .6
In Beaver
true
Console.WriteLine(al.IsSame((Beaver)b2)); 1 uhen.ppn 7
In Mammal
false
Console.WriteLine(al.IsSame((Antelope)a2)) :uhon. Tpn.8
In Antelope
true
Console.WriteLine(b1.IsSame((Antelope)a2)); :0%90.1Pn .9
In Beaver
false
Console.WriteLine(b1.IsSame((Beaver)a2)); DD BT WK K . w10
MK 87 071 ) Beaver 012 Antilope
N nhon
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